myg  Signal (stat + sys)  Z/v"+ets tt ttv Vv singletop  All BG (stat + sys)
300 72245+£661+4100 3.64+£032 1.64+035 0.18£0.02 0.63+£0.11 070+0.37 6.80=0.61+0.50
400 20312+£16014+1061 0.85+£0.11 023731  0.07+£001 001795 0387037 1547902 +£0.11
500 12931+£67.6+678 2317020 112+037 0.18£0.02 025+£0.04 1124+052 4.99+0.67 +0.39
600  5215+£249+283 073700 0287018  0.10£001 013+£003 000792 = 1.2470% +0.11
700 2669+£109+152 1.14+£0.08 028751, 004001 0047582  0.0070% 15073 £0.15
800 1278 £489+777 0457005  028%017 0.054£001 0.16+£0.04 0.00703 0937032 +0.11
900 634229417 044700  0.00700 0052001 014+£004 000703  0.63705 £0.09
1000 32211442312  033700; 00775  0.02£001 010£0.03 0.007025 0527058 £0.09
1100 175+£0.57+140 073+£0.05 0087y 005001 0124004 0007025 09873 £0.18
1200 828+£030+7.39 009709 00070  0.03£001 0.07+£005 019703 038703, £0.08
1300 43.6+£0.16+£443 008759 0007055 0004000 0.03709%  0.007035 0.17031 +0.02
1400 27.4+0.08+3.17 043004 00070 0.03+£001 018£0.09 0.19703 0.837037 +£0.2
1500  133+£0.04+174  0.08%0% 00070 0.01£001 0.03£002 000702 0137051 £0.03
1600  7.63+£0.02+1.15 0204004 0007055 001£000 0037% 0007923 0237051 £0.07
1700  4.06 £0.01£071  0.094+0.02 0.00%0 0014000 0007092  0.007935 0.179:2 £0.03
1800  224+£0.014+044 003700 00070  0.00£0.00 0.007905  0.007025  0.04THa1 £0.01
1900  1.38+£0.00+031  0.18%00; 0157017  0.04£001 015+011 000702 05275 £0.17
2000 0.78£0.00£020 049+0.09 0.00704 0014£0.01 001799 000702 0517033 +£0.18
2100 043+£0.00£0.12 019709 0.0070%  0.004£0.00 003700 0007035 0217031 +£0.08
2200 024+£000£007 00870  0.007)00 0.00£0.00 0.02+£0.02 0.00793 0.17931 +£0.04
2300 0.13+£0.00£004 0087y 0107075 0.004£0.00 0.00799% 0007935  0.19703% +£0.08
2400  0.07+£0.004£003 011700  0.0070%  0004£0.00 002+£0.02 0007935 0137031 +£0.06
2500 0.04+000+002 002798 000701 000+000 00070%2 010102 012705 +0.06
2600  0.02£0.00£0.01 0007003  0.007005 0.00£0.00 002£0.02 000702  0.027031 £0.01
2700  0.01£0.00£0.01 004790 00070, 000£0.00 0.02+£0.02 0007935  0.07+03) +0.03
2800  0.01£0.00£000 001700  0.00704 0.004£0.00 001199 0007535  0.02+03 £0.01
2900 < 0.014+0.00£0.00 0.00700  0.0070% 0.00+£0.00 0.02+£0.02 0007555 — 0.0270:) £0.01
3000 < 0.014+0.00£0.00 000700 000795 0004£0.00 011+£0.11 0007935  0.1270%° +£0.07



